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Ern* frqfri$
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5. (w) * t< 6 qrt ffitu( c)&nm t

slq{ d-cr frasr

P 0.6 600000

a 1.0 360000

R 1.2 240000

vst qtjdffi si ffi * flqfud st wr i, qR

dlk{-gffi qt o yfrrro I St qvri q}Efrftrq} qt

sikd fttr rs yftin *r (s)

(s) Fd + ffi- qR qft*rq <c€rqRs- Ud s} fic {
c-drtt? 

0o)

ftqRk( cr tRR M ftfrc:

(6) tkAMwtsrc-<

,'

1

z. qrft rFT dfrs I

3. <Syqc}* nr6'{cr<# r

4. ilrRur+tt+rtsc+fr6 qqnt,

s. Eqxsr-.tlr rrryrt wifr qrBQtffi qr qrq+Afrq, efrT
q$sfltqrctqcvo'&*{qrBs 

I

;it, Q-iirc ilfomd flrcc+ ctrflr 6 + vq-trcr q.<r{ qqrt f

(a) What do you understand by risk and relurn of a

security? Explain the relationship between them.

How risk is different from uncertaint ) (g)

(b) What do you mean by Time Value of money?

Explain the reasons for Time Value of money.

How can time. be adjusted in financial decisjon

making? ( l0)
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frc{ur Cost p€r Unit (Fs)

iDEITqTfr 50

nf,E{,l.q 20

w'kqq 30

eml 20

fufrqqe 120

rd'o d st{d E-qr crfi \q' qff} * Rs *r cr4-mR

i qtfd crqfi flri rifii .t Rs tr in1ffi<ni* an

EUr 6 lqcfr s6' cr6, ffi d zur d qrfr w
rn il wqt * grrrmt atq-d (qc t.rao ro ?<,

ffis( + Wilql atrc vcq wfl-o so Fi, Rff

rfiI 2s% ;ri['E drqr 'n *rr ir rqrs rer qr* srflr

ATd{ Ts-q ic r,oo,0oo wt *r *qn qm 9.rqn ir.fi'

rrtaq t q-st irdr it

s4ooo FrEfr + <rfrt, v{rr{ + Rv na w{fi-o

iff.d ar<rorrr irr q5Fr.nlrgl (ro)

OR

(a) (i) Mr. Mahesh is expecting to receive Rs.10000;

Rs.20000 and Rs.30000 at the end of

first'year, second year and third year

) from now. If inter6st rate is 10% p.a.

calculate the total present value of the

amounts received by Mr. Mahesh over the

neit th."e years.

(ii) Mr.rVahesh is to receive from second

investment Rs.40000 (Future Value) at the

end of 5 years from now. If the interest rate

is l5% p.a. find out the present value of the

second investment. (4x2=8)

It Explain in brief any four sources of short-term

finance. ( l0)

What do you mean by Ratio Analysis? Briefly explain

its signifioaoco and limitations. (18)
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A project requires an initial investmenr of Rs.400000.

It is estimated to have a life of 6 years. The estimated

net cash flows are as under

Cost of capital is l0%. Calculate

6007 l3

tr{tq wde I mda v'cc
on-u-c5e5o6d1 eo.ooo I rs,ooo t,00,000

Rnugm6v$ 'r* z,ooo I u,ooo 1,500

sfr{F-cqftrd+qffm(cqa) o.zo I r.so 0.02

sqEdrr€ll-flfu[tqrqCdco +.om I r,mo

uh{FzfrrqXe<wnr 0.60 lr* 0. t0

0a)

(n) auro + frfi-{ y?6R nFr S? qrer 6frqr (e)

qI

(<) rmdie RRts * arm ffiRrc ta l-a{ q-rfl

(q) w+ 6Rd + srt n fic i vrarEq * u.'{ fr dui{r

ffi c) yqrkr qlt ffr (ro)

4

OR

I)

4.

(a) Payback Period

(b) Net Present Value )

(c) Internal Rate of Return of the project

Assume that the standard payback period is 4 trears.

Should the project be accepted as pot each of the

above measures? (18)

(u,) E=fr frffir 6ffi + 6rdin-€ 1ff d ur+ruom d
yqrFd ol+ qr& 6rc+' wr *i (e))

t

Year Net Cash FIow Gsj
I t

50000

2

J 90000

5

4 100000

110000

6 80000

P.T.O.
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E{ mt yfulRct' rrr qrsrr + qlAsn rtar tr rra fr ffi'
i:

Gtw 6no lct cR R+{r

qtrct +cr @Rs.uo ffi *c(

EkA iq( pas wt yfr *{r

6!* * c{ * q-d I yh *r< z rd,qr ilnir t+
6 Bnfrq t * zz ffi c{ d E{ + Td-} 6 y*q ir
6,qft 30% cfr Ei i qFFF( 16T grr<m 6'.rfr tr qrqn

aq qR 6T sCrirr EE(i: 6rrfr s+ iff d urrrrr 6 zrs6r

qtr (re)

ffqRtud v,{[ + fts ffiEr m*r d Bfi (g*cd),

ft-S{ *ds 6 Efr (Eqsqa) *( tgffi *+o * eA

(tfrcm) fr tqil st uk cfunt[ * qrsr rir

6007

3. ABC Ltd has the following capital structure

5

Equity Share capital (face
value Rs. l0 per share)

Rs.10,00,000

Rs.2,00,000

Rs.8,00,000

Tolal Rs.20,00,000

10% Prefererice Shares (face
value Rs. 100 per share)

12% Debentures (face value
Rs.l00 por Debenture)

All these seliurities are traded in the market. Recent

prices are :

Debentures @ Rs.ll0 per debenture

Preference Shares @ RS.l20 per share

'Equity shares @ Rs.25 per share

)" .o*pury expects to pay a dividend of Rs.2 per

share at the end of the year which is expected to

grow at 7o/o p.a. The company pays income tax @

307o. Calculate the company's cost of capital using

market value weights. ( 18)

P.T.O.
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4

OR

Calculate the degree of operating leverage (DOL),

degree of financial leverage (DFL) and tho degree of

combined leverage (DCL) for the followiog firms and

interpret the results.

Firm C

( l8)

(a) What are the different types of dividends? Explain

them. (8)

1ff fr arrrt rox *r rrqr<r dFrgr

(a) t&o w<e

(q) U€ cf,cn {q

(u) fiftu-<r fr ft.d d sidfu <(

crt flldq fr qr<o tt+, qcD a c{ }r wr qftd-d-{r d
lctm r.At, scrc + f,1ur dsr{ frcr dtqr qfiq?

(n)

e

(b) Explain briefly the factors which !1fluen'1 the

dividend policy of the firm. '(10) )

OR

(a) What are the factors affecting working capital

requirement in a manufacturing company? (8t

Firm BFirm AParticulrrs

60,000 l5poo I,00,000Output (units)

1,5007,000 14,000Fixed costs (Rs)

l:500.20Vsdrble cod p<r unit (Rs)

4,000 8,000Inter€st on bonowed ftnds (Rr)

0.100.60 5.00S€Uing price per unit(P.s)

EFdrlqrEsroifr-cte
roTqqrfr{lqt)

Rs.10,00,m0

roez" afirar rlct tJRrcRq
roowtqfrttr$ Rr.2,0O,000

12%EA-fl(3ifitdqs
roovqqqfrEi.{g

Rs.8,00,000

Erf, Rs.20,00,m0

P.T.O.
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(<) r*mftm ft-fi + frd qn ff d sec t sqeqsr

(ro )

irym ffiwr t src flr {cf,t l? Fr+ {r€ y{ fr{r$

c) ri&c i rrr6tr (ra)

qI

s{ Sa;rrdqsrEGo
I 50000

2 70000

3 90000

4 100000

5 110000

80000

(b) The cost of XYZ Ltd provides the following data :

Particulars Cost per Unit (Rs)

Raw materials 50

Direct Labour 2A

Overheads 30

Total cost 100

Profit 20

Solling Price 120

Average qaw material in stock is for one month.\
Average materials in work-in-progress are for half

month. Credit allowed by suppliers one month,

credit allowed to debtors one month. Average time

lag in payment of wages l0 days, average time

lag iri payment of overheads 30 days, 25Yo of the

r sales are on cash basis. Minimum cash balance to,
be maintained is Rs.1,00,000. Finished goods lie in

\
the warehouse for one month.

Estimate Net working capital requirement for an

annual output of 54000 units. (10)
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5. (a) Mr X holds the following portfolio

Share

a I 0

R 1.2

What is expected rate ofreturn on his portfolio, if
the risk-free rate is 6 pero€nt.and the expected

return on market portfoiio is 15 percent. (8)

(u) rr*<m6tt arcertr{+*? sr+ttc{€
+ 6mfr d sq ffiqr ff*c ffdc **t rrqq d
d+ trrqlfrrt frar qr voar *? (ro)

(m) (i) * qtr w i cr& c{, Eft c{ rk ffi s{

+ a.d + rcooo !qt, 2oooo wi uk soooo

wi rm< tm) + dq qr tt tr nR qrq E(

rc% ffi d t, wqil +{ qq] { fi ckr ERr

rtq {Rr * W cfffi 6r d wr<r rtr

9

ffiffi{R * dRT{ dk ftH'.* w wr src+ ti
B-{+ ft t{q w cfrr *kr uRfuffir t fr's

ssR fr-T *? (a)

(ii) Sctrr.61 qct s d + q-({ qrt fftlr

t noooo lqi (qRqTfl) n e r}l*r frqrc
c( 15% cR s{ t, ER frts cr q{qr<tq arr

qtr (4,2 =s )

6007

1 (6)

,|

(b) Explain briefly any four latest contemporary issues

in Finance? t (to)

OR

Write short notes on :

(a) Valuation of Equity shares

(b) Valuation of Bond

(c) Stock-split and bonus shares

\ )

(6x 3:18)
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Beta Investment

P 0.6 6m000

360000

240000
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